
6"± COORDINATE
IN THE FIELD  BASED

ON EXISTING CONDITIONS

PRIOR TO SAW CUT OF WALL CONTRACTOR TO LOCATE
ALL HORIZONTAL REINFORCING IN THE WALL USING
GROUND PENETRATING RADAR. SAW CUT THRU ALL
HORIZONTAL WALL REINFORCEMENT AT LOCATIONS
SHOWN HERE AND ON SHEET S-401. SAW CUT SHALL
EXTEND THRU ALL HORIZONTAL REINFORCING TO BREAK
EXISTING SHEAR WALL INTO 3 SEPARATE SEGMENTS,
WALL SHALL BE SAW CUT AT ALL FLOORS FROM TOP OF
FLOOR TO BOTTOM OF FLOOR ABOVE. GENERAL
CONTRACTOR SHALL COORDINATE SAW CUT OPERATION
W/ VA HOSPITAL COTR AND ENGINEER OF RECORD. SAW
CUT TO BE DONE IN A TIMEFRAME  THAT WILL BE
ACCEPTABLE TO NORMAL OPERATION OF THE FACILITY.
SAW CUT SHALL BE DONE PRIOR TO POURING NEW
CONCRETE SLABS IN ASC ADDITIONEXISTING

STRUCTURE1. The Contractor shall be responsible for hiring the special inspector(s) and must incur
all associated costs per section 1704.1 of the IBC-2006.

2. The permit applicant shall submit a statement of special inspections prepared by the
registered design professional in responsible charge per section 1704.1.1 of the
IBC-2006. The statement of special inspections shall be as shown below

3. Special inspectors shall submit inspection reports to the building official, and to the
registered design professional in responsible charge. The reports shall be prepared
in accordance with the requirements contained in section 1704.1.2 of the IBC-2006.

4. The required Special Inspections for this project have been summarized below.  All
other normal inspections and testing not included in the Special Inspections shown
below (i.e. soils compaction testing, concrete sampling and testing, permit agency
inspections, etc.) shall be paid for by the General Contractor. All normal testing
and inspections, as well as all Quality Assurance testing and inspections (Special
Inspections), shall be coordinated and scheduled by the General Contractor to fit
within the workflow of the project

General Requirements:

QUALITY ASSURANCE PLAN

Special Inspections /Quality Assurance Requirements

Item Special Inspection Requirement
1. Steel Construction
a. Verification of high strength
bolts, nuts and washers. Verify
confirmation of identification
markings to ASTM standard
specified. Obtain
manufacturer's certificate of
compliance.

Periodic Inspection required as defined in AISC 360 Section
A3.3 and applicable ASTM material specification

b. Verification of high strength
bolting:

      1) bearing-type connections Periodic Inspection required as defined in AISC 360 Section
M2.5

      2) Slip-Critical connections Continuous Inspection required as defined in AISC 360
Section M2.5

c. Inspection of Welding:
      1) Complete and partial
penetration groove welds

Continuous Inspection required as defined in AWS D1.1 and
IBC section 1704.3.1

      2) Multipass fillet welds Continuous Inspection required as defined in AWS D1.1 and
IBC section 1704.3.1

      3) Single pass fillet welds
greater than 5/16"

Continuous Inspection required as defined in AWS D1.1 and
IBC section 1704.3.1

      4) Single pass fillet welds
less than 5/16"

Periodic Inspection required as defined in AWS D1.1 and
IBC section 1704.3.1

      5) Floor and Roof Deck
welds

Periodic Inspection required as defined in AWS D1.3

      6) Verification of weldability
of reinforcing steel other than
ASTM A 706

Periodic Inspection required as defined in AWS D1.4 and
ACI 318 Section 3.5.2

      7) Shear reinforcement Continuous Inspection required as defined in AWS D1.4 and
ACI 318 Section 3.5.2

      8) Other reinforcing steel Periodic Inspection required as defined in AWS D1.4 and
ACI 318 Section 3.5.2

d. Inspection of Steel frame
joints for compliance with
approved construction
documents

Periodic Inspection required as defined in IBC 2006 Section
1704.3.2

STEEL TRUSS

MECHANICAL
DUCT

1/4" DIA. BRAIDED STEEL CABLE WRAP
AROUND STEEL TRUSSES @ PANEL POINTS
OR TO ANOTHER STRUCTURAL MEMBER
(INCLUDING UNISTRUT) AT A POINT THAT
WILL NOT MOVE UNDER SEISMIC LOADING
CONDITIONS. & CLAMP WITH DOUBLE
CROSBY CLAMP.  PROVIDE ONE CABLE
EACH SIDE ANGLED @ BETWEEN 30° & 60°
ANGLE. SPACING OF CABLE BRACING
SHALL NOT EXCEED 20'-0"

LL=150psf

(1) WIND - ASCE 7 Main Force Resiting System  Method 2

Vertical:

Horizontal:

AISI Specification for the design of Cold Form, Current Edition
AISC Manual of steel construction, Current Edition

GENERAL STRUCTURAL NOTES

2. DESIGN LOADS:

International Building Code, 2006 Edition
1. CODES AND MANUALS

ACI 318, current edition.

Steel Structural Members, Current Edition

(2) SEISMIC(EQUIVALENT LATERAL FORCE PROCEDURE) V =  Cs W

3. GENERAL
A.

Hardrock Concrete (Unit Wt. = 150 pcf)

4. MATERIALS

Reinforcing Steel:

A.

a. Footings: 3" from bottom and 2" from sides.
b. Stem Walls: 2" from sides and 2" from top and bottom.
c. Slabs on ground: centered in slab

I

0.239
0.505
1.5

Occupancy Category
Site Class

1.22

D

CExposure
Mean Roof Height
Roof Angle 22.62

145 ft

Iw
V 3-Sec. Gust 90mph

1.15

ACI 530, Current Edition

SDS
SDI

= IV

B.

=

=
=
=

=
=
=
=
=
=

E

B. Shop drawings shall be furnished for review before any fabrication and
erection is started. Poorly executed shop drawings shall be rejected and
resubmitted.

C. The Contractor shall be responsible for providing safe and adequate shoring
for all parts of the structure during construction.

D. All trades shall coordinate and verify all openings in floors, roof, walls, and
beams with the General Contractor.

E. The General Contractor shall be responsible for foundations under
Mechanical equipment and shall coordinate size and location of foundations
with Mechanical Contractor.

Seismic Design Category D=

f'c = 4000 psi @ 28 days - All cast-in- place site concrete

R (Special Concrete Shear Walls) 5=
Cs 0.08=

a. f'c = 4000 psi @ 28 days using type II cement w/ water to cement
ratio =0.5 - All cast-in- place concrete spot  footings, stem walls,
continuous footings, and slabs on ground.

(1) All reinforcing steel shall conform to ASTM A615 Grade 60.
(2) Welded smooth wire fabric shall conform to ASTM A185 specification

for welded wire fabric for concrete reinforcement.

(3) Reinforcing steel shall be fabricated and placed in accordance with the
latest building code requirements for reinforced concrete (ACI 318) and
the latest standard Manual(ACI 315)

(4) Bar supports and spacers for rebar shall be provided in accordance
with ACI 315. Chairs with 22 GA. sand plates shall be provided for all
reinforcing in slabs on grade.

(5) Where lapped splices in reinforcing occur, the minimum lap shall be
made as follows unless noted otherwise:

a. Vertical reinforcing: 48 bar dia. or 24" minimum.
b. Horizontal reinforcing:   48 bar dia. or 24" minimum.
c. Horizontal corner bars:   48 bar dia. or 24" minimum.

(6)

(7) The contractor shall be responsible to see that all rebar is properly
aligned and tied in place before placing concrete.  All column, wall
dowels and vertical steel shall be accurately located and secured in
place so that it remain in position during the concrete placing
operation. Any rebar found to be improperly installed shall be
removed and replaced at no additional cost to the owner.

(8) All horizontal reinforcing in footings, walls and beams shall be
continuous around corners or have corner bars of the same size and
spacing as the horizontal bars and lap a minimum of 30 bar diameters
or 24" minimum.

(9) Form Ties shall be either of the threaded or snap off type so that no
metal will beleft within 1" of the surface of the wall. Following removal
of form ties, recesses are to be carefully filled and pointed with
mortar.

(1) All structural and miscellaneous steel members, shapes and
connections shall conform to ASTM A992 Fy=50ksi

(2) The contractor shall be responsible for checking the Architectural
drawings for all miscellaneous steel.

(3) Bolts Shall Conform to ASTM A325 tension control bolts unless noted
otherwise, with sizes as shown on the drawings.  Anchor bolts
embedded in concrete or masonry shall be ASTM F1554 Grade 36 bolts
or A36 threaded bars.

(4) All welding shall be done by certified welders and shall be in
accordance with the latest standards of the AWS and AISC. Inspect
all welding in Accordance with the specifications.

(5) HSS and Tube steel shall be ASTM 500 grade B Fy=46ksi.

C. Structural and Miscellaneous Steel:

The Contractor shall verify all dimensions in the field.

A. 2nd Floor Mechanical Room

Cast-in-place Concrete:
(1)

d.

B.

Concrete cover for reinforcing shall be as follows:

(1) All cold formed shapes and connections shall have a yield stress of
Fy=50 ksi for 16gage & heavier & 33ksi for 18gage & lighter.

D. Cold formed structural and miscellaneous steel

(2) All welding shall conform to the provisions of AWS D1.1 Current
Edition and ANSI/AWS  D1.3 Current Edition. Where the weld
throat is not shown on the drawings, the weld throat shall be at
least as the thickness of the thinnest sheet joined. All welds shall
provide complete fusion  of the sheets without "blowouts".

(3) At all butt joints, abutting pieces of track shall be securely
anchored to a  common structural element or they shall be splice
welded together.

(4) All structural stud framing shall have rows of horizontal bridging
installed at a  maximum of 4'-0" o.c. See detail this sheet.

(5) The track of all structural stud framing shall be 16 gage minimum.

DL=80psf
LL=25psf2nd Floor Interstitial
DL=50psf

2nd Floor Mechanical Room

2nd Floor Interstitial
LL=100psf3rd Floor (80LL + 20 Partition)
DL=50psf3rd Floor
LL=25psf3rd Floor Interstitial
DL=50psf3rd Floor Interstitial
LL=100psfRoof/Future 4th Floor (80LL + 20 Partition)
DL=50psfRoof/Future 4th Floor (80LL + 20 Partition)
LL=100psfExterior Corridor
DL=50psfExterior Corridor
LL=100psf
DL=50psf

Mech. Room Roof/Future 3rd Floor(80LL + 20 Partition)
Mech. Room Roof/Future 3rd Floor

WALLS

P(0'-20') 18.1psf=
P(20'-60') 21.3psf=
P(60'-80') 22.3psf=
P(80'-120') 23.9psf=
P(120'-140') 24.5psf=

Structural Design Manual for Hospital Projects, Department of Veterans Affairs, August 2009
ASCE/SEI 31-03 Seismic Evaluation of  Existing Builders
ASCE/SEI 41-06 Seismic Rehabilitation of Existing Buildings

(6) All welded & bolted connections shall be inspected by  a certified
inspector at the contractors cost

b. f'c = 4000 psi (Light Weight Aggregate) @ 28 days with type I-II
cement w/ water to cement ratio =0.5 - for all interstitial floor
decks

c. f'c = 4000 psi (Normal Weight Aggregate) @ 28 days with type I-II
cement w/ water to cement ratio =0.5 - for all non-interstitial floor
decks

STEEL STUD
FRAME WALL

METAL CLIP
ANGLE

CONTINUOUS
BRIDGING
CHANNEL

HORIZ. BRIDGING DETAIL
NOT TO SCALE

1/16
TYP.

LIGHT GAGE OR
HSS HEADER
BEAM, SEE PLAN

STEEL STUD
FRAME WALL

PROVIDE CONTINUOUS
16GA STEEL RUNNER
TRACK @ LIGHT GAGE
HEADERS

STEEL STUD
FRAME WALL

DOUBLE STUD FRAMED
BEARING PROVIDE 1/8"
WELD OF STUDS 2"
LONG @ 12" O.C.

PROVIDE L3x3x1/4x6"
LONG BEARING SEAT
ANGLE @ HSS TUBE
HEADERS

EXTERIOR NON-LOAD
BEARING HEADER DETAIL
NOT TO SCALE

DECK  PENETRATION
DETAIL AT OPENING
LARGER THAN 1'-6" DIAMETER

L3x3x1/4

3/16 3"

3/16 3"

CLIP ANGLE
TO JOIST

L3x3x1/4

TOP CHORD OF JOIST

L4x4x1/4 x 0'-4"
CLIP ANGLE

3/16

TO
P 

C
H

O
R

D
 O

F 
JO

IS
T

TO
P 

C
H

O
R

D
 O

F 
JO

IS
T

FR
AM

E 
AB

O
VE

L3x3x1/4

MAIN ELEVATOR TOWERS
EXISTING CONCRETE SHEARWALL
MODIFICATION DETAIL(SEE PLAN ON
SHEET S401 FOR REQUIRED LOCATIONS)
NOT TO SCALE

PARTIAL PLAN VIEW - DUCT BRACING
NOT TO SCALE

Date

Project Number

Drawing Number

Dwg.

Building Number

Project TitleDrawing Title

OfArchitect Engineer

on
e-

ei
gh

th
 in

ch
 =

 o
ne

 fo
ot

0
4

8
16

on
e-

qu
ar

te
r i

nc
h 

= 
on

e 
fo

ot
0

4
8

th
re

e -
ei

gh
th

s  
in

ch
 =

 o
ne

 fo
ot

on
e-

ha
lf 

in
ch

 =
 o

ne
 fo

ot
th

re
e -

qu
ar

te
r  i

nc
h 

= 
o n

e 
fo

ot
on

e 
in

ch
 =

 o
n e

 fo
ot

on
e 

an
d 

on
e -

ha
lf 

in
ch

es
 =

 o
ne

 fo
ot

th
re

e  
in

ch
es

 =
 o

ne
 fo

ot
0

6
0

6
1

0
6

2
2

0
6

0
4

0
4

Office of
Construction
and Facilities
ManagementLocation

Checked Drawn

Approved: Project Director

ARCHITECT/ENGINEERSCONSULTANTS:

COMPLETION ITEM NO. _____
FULLY SPRINKLERED

A

B

C

D

E

1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

E

December 14, 2010

501-320AMBULATORY SURGERY EXPANSION
GENERAL STRUCTURAL NOTES

S001

HEADER BEAM SCHEDULE
Clear Span Header Beams
Up to 5'-0" (2) 15/8"x6"x18GAGE

Up to 10'-0" (2) 15/8"x9-1/4"x16GAGE
Up to 15'-0" (2) 15/8"x11-1/2"x16GAGE

# Revisions Date



1

C

D

1.5 2 3 4 5 6 7 8

5 6 6 6 6 7

30

30

2929292929

65 6 6 6 62929292929

30

C1
S301

C1
S301

3
TYP.

3
TYP.

3
TYP.

3
TYP.

3
TYP. 3

TYP.

4
TYP.

13

TYP.
4

TYP.
4

TYP.

30

42

42

9

9

9

30

C2
S301

34

34 34

9

34

9

C.8

C.2

1.4

C3
S301

D3
S301

EXISTING CONCRETE WALL

1-5/8" x 6" x 20GAGE STEEL STUDS @ 16" O.C.

FIELD VERIFYFV

RAISED INTERSTITIAL FLOOR AREA

KEY PLAN 2ND FLOOR

D A

C B

Date

Project Number

Drawing Number

Dwg.

Building Number

Project TitleDrawing Title

OfArchitect Engineer

on
e-

ei
gh

th
 in

ch
 =

 o
ne

 fo
ot

0
4

8
16

on
e-

qu
ar

te
r i

nc
h 

= 
on

e 
fo

ot
0

4
8

th
re

e -
ei

gh
th

s  
in

ch
 =

 o
ne

 fo
ot

on
e-

ha
lf 

in
ch

 =
 o

ne
 fo

ot
th

re
e -

qu
ar

te
r  i

nc
h 

= 
o n

e 
fo

ot
on

e 
in

ch
 =

 o
n e

 fo
ot

on
e 

an
d 

on
e -

ha
lf 

in
ch

es
 =

 o
ne

 fo
ot

th
re

e  
in

ch
es

 =
 o

ne
 fo

ot
0

6
0

6
1

0
6

2
2

0
6

0
4

0
4

Office of
Construction
and Facilities
ManagementLocation

Checked Drawn

Approved: Project Director

ARCHITECT/ENGINEERSCONSULTANTS:

COMPLETION ITEM NO. _____
FULLY SPRINKLERED

A

B

C

D

E

1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

E

December 14, 2010

501-320AMBULATORY SURGERY EXPANSION
PARTIAL FRAMING PLANS - 2ND FLOOR INTERSTITIAL SPACE

S101

Scale: 1/8" = 1'-0"

2ND FLOOR INTERSTITIAL FRAMING PLAN (INTERSTITIAL SPACE ABOVE 2nd FLOOR)A1

GENERAL NOTES

SHEET KEYNOTES

LEGEND

1. FIELD VERIFY ALL DIMENSIONS
2. EXISTING SECOND FLOOR FINISH FLOOR ELEVATION=100'-0"= MSLE 5366.0
3. EXISTING 2nd FLOOR INTERSTITIAL FINISHED FLOOR ELEVATION =110'-0" TO BE

FIELD VERIFIED
4. EXISTING 3rd FLOOR FINISHED FLOOR ELEVATION =118'-0" TO BE FIELD VERIFIED
5. EXISTING 3rd FLOOR INTERSTITIAL FINISHED FLOOR ELEVATION =128'-0" TO BE

FIELD VERIFIED
6. EXISTING 4th FLOOR FINISHED FLOOR ELEVATION =136'-0" TO BE FIELD VERIFIED

1. W33x118 Fy=50ksi STEEL BEAM
2. 11/2" 18 GAGE VL TYPE FLOOR DECK WITH 3-1/2" OF NORMAL WEIGHT CONCRETE

(5" TOTAL THICKNESS) W/6x6 W2.1 x W2.1 WWF CENTERED IN CONCRETE.
MINIMUM DECK PROPERTIES +I=0.282in , -I=0.295in , +S=0.315in , -S=0.327in .
ATTACH WITH 36/7 PATTERN OF #12 TEK SCREWS @ SUPPORTS AND
BOUNDARIES AND (11) #10 TEK SCREWS @ SIDE LAPS. MAINTAIN 2 SPAN
MINIMUM. PROVIDE ROOFING AS REQUIRED PER ARCHITECTURAL DRAWINGS

3. HANGER ROD TO FLOOR BEAM ABOVE, TYPICAL. SEE PLAN FOR SPACING. SEE
SECTION E5/S301 FOR CONNECTION TO INTERSTITIAL BEAM AND SECTION
B3/S301 FOR FOR CONNECTION TO FRAMING BEAM ABOVE.

4. TYPICAL BEAM SPLICE AS REQUIRED, SEE SECTION C5/S301
5. EXISTING W14x132 STEEL COLUMN
6. EXISTING W14x176 STEEL COLUMN
7. EXISTING W14x257 STEEL COLUMN
8. OPENING IN DECK, SEE DECK PENETRATION DETAIL ON SHEET S001
9. 1-5/8" x 6" x 20GAGE STEEL STUDS @ 16" O.C. SEE ARCHITECTRAL FOR

SHEATHING REQUIREMETNS
10. KICK BRACE, SEE E4/S301
11. W16x31 Fy=50ksi
12. W16x26 Fy=50ksi STEEL BEAM
13. W6x9 STEEL BEAM Fy=50ksi @ 7'-6" O.C.± TO MATCH BEAM SPACING ABOVE
14. W12x14 STEEL BEAM Fy=50ksi
15. W21x44 Fy=50ksi STEEL BEAM @ SPACING SHOWN
16. W24x55 Fy=50ksi STEEL BEAM
17. W21x44 Fy=50ksi STEEL BEAM
18. STEEL TRUSS, SEE A2/S201
19. W21x50 Fy=50ksi STEEL BEAM
20. EXISTING W14x159 STEEL COLUMN
21. (2)1-5/8"x8" x 18GA STUD HEADER BEAM
22. EXISTING W14x109 STEEL COLUMN
23. EXISTING W14x90 STEEL COLUMN
24. EXISTING STEEL BAR JOISTS
25. EXISTING W30x99 STEEL BEAM
26. EXISTING STEEL COLUMN
27. W12x16 Fy=50ksi STEEL BEAM
28. EXISTING W27x94 STEEL BEAM
29. EXISTING W6x9 INTERSTITIAL BEAM
30. EXISTING INTERSTIAL JOIST FRAMING
31. PROVIDE C6x8.2 FRAMING @ EDGES OF NEW MECHANICAL UNIT. EXTEND

CHANNELS OVER (4) JOIST MINIMUM SEE B2/S301. PROVIDE ANGLE FRAMING
PER DECK PENETRATION DETAIL ON SHEET S001 @ NEW OPEINGS

32. EXISTING METAL DECK
33. EXISTING SUPPORT BRACKET FROM CONCRETE WALL
34. NEW STEEL COLUMN, SEE SHEET S401 FOR REQUIREMENTS
35. EXISTING W30x118 STEEL BEAM
36. EXISTING W12x14 STEEL BEAM
37. EXISTING W24x76 STEEL BEAM
38. EXISTING W27x84 STEEL BEAM
39. C12x30, SEE B5/S301
40. EXISTING C12x30
41. EXISTING W33x118 STEEL BEAM
42. 1-1/2" 18 GAGE VL TYPE FLOOR DECK WITH 2-1/2" OF LIGHT WEIGHT CONCRETE

(4" TOTAL THICKNESS) W/6x6 W2.1 x W2.1 WWF CENTERED IN CONCRETE.
MINIMUM DECK PROPERTIES +I=0.282in , -I=0.295in , +S=0.315in , -S=0.327in .
ATTACH WITH 36/7 PATTERN OF #12 TEK SCREWS @ SUPPORTS AND
BOUNDARIES AND (11) #10 TEK SCREWS @ SIDE LAPS. SPAN CONDITION

43. C12x30 Fy=36ksi STEEL BEAM
44. W12x19 Fy=50ksi STEEL BEAM
45. LIGHT GAGE HEADER BEAM, SEE EXTERIOR NON-LOAD BEARING HEADER DETAIL

S-001
46. EXISTING W6x9
47. NOT USED
48. W18x40 Fy=50ksi STEEL BEAM
49. W16x89 Fy=50ksi STEEL BEAM
50. W14x43 Fy=50ksi STEEL BEAM
51. W16x57 Fy=50ksi STEEL BEAM
52. HSS6x6x5/16 Fy=46ksi STEEL COLUMN
53. HSS5x5x1/4 Fy=46ksi STEEL COLUMN
54. HSS3x3x1/4 Fy=46ksi STEEL COLUMN
55. W18x86 Fy=50ksi STEEL BEAM
56. W18x106 Fy=50ksi STEEL BEAM
57. NEW LIGHT SUPPORT SECTION. SEE SECTION C4/S302 FOR FRAMING

REQUIREMENTS
58. CONTRACTOR TO VERIFY EXISTING 2ND FLOOR SLAB LEVEL. IF REQUIRED USE

SELF LEVELING FLOOR COMPOUND
59. NEW EQUIPMENT BOOM SUPPORT SECTION, SEE C3/S302
60. NEW O.R. TABLE SUPPORT, SEE SECTION C2/S302. COORDINATE TABLE

LOCATION WITH EQUIPMENT PLAN
61. W18x55 Fy=50ksi STEEL BEAM
62. EXISTING WALL TO REMAIN BELOW CORRIDOR
63. SAWCUT EXISTING WALL FOR NEW PENETRATION THRU WALL FOR NEW

CORRIDOR, SEE ARCHITECTURAL

# Revisions Date



1

C

D

1.5 2 3 4 5 6 7

12 12 12 12 12

5 6 6 6 6 7

25

25

25252525

25

6

18 18
18

18 18

5

6 6

6

6
25

2525252525

25

2

2

2

2

E4
S201

C2
S301

2

11

11

34

19

2

15

48 16

2

36

38

25 41 41

2525

41

E4
S201

1

38

827

36

2

19

33

37

36

E4
S201

B4
S301

14

B4
S301

54

5'
 - 

4"
EQ

EQ
EQ

EQ
EQ

EQ
5'

 - 
4"

19

16

34

34

C.8

C.2

C.4

C.6

1.4 1.8

2

HIGH

15
LOW

EQ EQ EQ

6"

EQ EQ

T.O. BEAM
EL=114'-6 1/2"

T.O. BEAM
EL=117'-7"

T.O. BEAM
EL=117'-7"

T.O. BEAM
EL=117'-7"

T.O. BEAM
EL=117'-7"

2

T.O. BEAM
EL=117'-7"

T.O. BEAM
EL=117'-7"

T.O. BEAM
EL=117'-7"

A3
S301

A1
S301

B2
S301

C3
S301

E5
S201

A2
S301

B2
S301

A1
S301

A2
S301

A2
S301

B5
S301

B5
S302

B5
S301

C5
S302

A4
S302

B4
S302

ABOVE
14

14

36

B2A
S301

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

C
WALL

L

C
WALL

L

6"

A1
S301

14

14

B4
S302

B2A
S301

C1
S301

C4
S201

LOW

HIGH

C4
S201

LOW

HIGH

C1
S301

T.O. BEAM
EL=117'-7"E4

S301
TYP.14

EL=114'-6 1/2"(LOW)
14

54
ABOVE

33

C4
S201

LOW

HIGH

E4
S201

C4
S201

LOW

HIGH

C1
S301

C1
S301

60

60

60
60

D3
S302

62

8

F.
V.

7'
 - 

2 
1/

2"
 ±

F.
V.

7'
 - 

2 
1/

2"
 ±

F.
V.

7'
 - 

2 
1/

2"
 ±

F.
V.

7'
 - 

2 
1/

2"
 ±

F.
V.

7'
 - 

2 
1/

2"
 ±

F.
V.

7'
 - 

2 
1/

2"
 ±

D2
S302

A6
S301

T.O. BEAM
EL=114'-6 1/2"

T.O. BEAM
EL=114'-6 1/2"

A4
S401

64
BELOW

EXISTING CONCRETE WALL

1-5/8" x 6" x 20GAGE STEEL STUDS @ 16" O.C.

FIELD VERIFYFV

RAISED INTERSTITIAL FLOOR AREA

KEY PLAN 3RD FLOOR

D A

C B

Date

Project Number

Drawing Number

Dwg.

Building Number

Project TitleDrawing Title

OfArchitect Engineer

on
e-

ei
gh

th
 in

ch
 =

 o
ne

 fo
ot

0
4

8
16

on
e-

qu
ar

te
r i

nc
h 

= 
on

e 
fo

ot
0

4
8

th
re

e -
ei

gh
th

s  
in

ch
 =

 o
ne

 fo
ot

on
e-

ha
lf 

in
ch

 =
 o

ne
 fo

ot
th

re
e -

qu
ar

te
r  i

nc
h 

= 
o n

e 
fo

ot
on

e 
in

ch
 =

 o
n e

 fo
ot

on
e 

an
d 

on
e -

ha
lf 

in
ch

es
 =

 o
ne

 fo
ot

th
re

e  
in

ch
es

 =
 o

ne
 fo

ot
0

6
0

6
1

0
6

2
2

0
6

0
4

0
4

Office of
Construction
and Facilities
ManagementLocation

Checked Drawn

Approved: Project Director

ARCHITECT/ENGINEERSCONSULTANTS:

COMPLETION ITEM NO. _____
FULLY SPRINKLERED

A

B

C

D

E

1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

E

April 23, 2011

501-320AMBULATORY SURGERY EXPANSION
PARTIAL FRAMING PLAN - 3RD FLOOR

S102

Scale: 1/8" = 1'-0"A1 3rd FLOOR FRAMING PLAN

GENERAL NOTES

SHEET KEYNOTES

LEGEND

1. FIELD VERIFY ALL DIMENSIONS
2. EXISTING SECOND FLOOR FINISH FLOOR ELEVATION=100'-0"= MSLE 5366.0
3. EXISTING 2nd FLOOR INTERSTITIAL FINISHED FLOOR ELEVATION =110'-0" TO BE

FIELD VERIFIED
4. EXISTING 3rd FLOOR FINISHED FLOOR ELEVATION =118'-0" TO BE FIELD VERIFIED
5. EXISTING 3rd FLOOR INTERSTITIAL FINISHED FLOOR ELEVATION =128'-0" TO BE

FIELD VERIFIED
6. EXISTING 4th FLOOR FINISHED FLOOR ELEVATION =136'-0" TO BE FIELD VERIFIED

1. W33x118 Fy=50ksi STEEL BEAM
2. 11/2" 18 GAGE VL TYPE FLOOR DECK WITH 3-1/2" OF NORMAL WEIGHT CONCRETE

(5" TOTAL THICKNESS) W/6x6 W2.1 x W2.1 WWF CENTERED IN CONCRETE.
MINIMUM DECK PROPERTIES +I=0.282in , -I=0.295in , +S=0.315in , -S=0.327in .
ATTACH WITH 36/7 PATTERN OF #12 TEK SCREWS @ SUPPORTS AND
BOUNDARIES AND (11) #10 TEK SCREWS @ SIDE LAPS. MAINTAIN 2 SPAN
MINIMUM. PROVIDE ROOFING AS REQUIRED PER ARCHITECTURAL DRAWINGS

3. HANGER ROD TO FLOOR BEAM ABOVE, TYPICAL. SEE PLAN FOR SPACING. SEE
SECTION E5/S301 FOR CONNECTION TO INTERSTITIAL BEAM AND SECTION
B3/S301 FOR FOR CONNECTION TO FRAMING BEAM ABOVE.

4. TYPICAL BEAM SPLICE AS REQUIRED, SEE SECTION C5/S301
5. EXISTING W14x132 STEEL COLUMN
6. EXISTING W14x176 STEEL COLUMN
7. EXISTING W14x257 STEEL COLUMN
8. OPENING IN DECK, SEE DECK PENETRATION DETAIL ON SHEET S001
9. 1-5/8" x 6" x 20GAGE STEEL STUDS @ 16" O.C. SEE ARCHITECTRAL FOR

SHEATHING REQUIREMETNS
10. KICK BRACE, SEE E4/S301
11. W16x31 Fy=50ksi
12. W16x26 Fy=50ksi STEEL BEAM
13. W6x9 STEEL BEAM Fy=50ksi @ 7'-6" O.C.± TO MATCH BEAM SPACING ABOVE
14. W12x14 STEEL BEAM Fy=50ksi
15. W21x44 Fy=50ksi STEEL BEAM @ SPACING SHOWN
16. W24x55 Fy=50ksi STEEL BEAM
17. W21x44 Fy=50ksi STEEL BEAM
18. STEEL TRUSS, SEE A2/S201
19. W21x50 Fy=50ksi STEEL BEAM
20. EXISTING W14x159 STEEL COLUMN
21. (2)1-5/8"x8" x 18GA STUD HEADER BEAM
22. EXISTING W14x109 STEEL COLUMN
23. EXISTING W14x90 STEEL COLUMN
24. EXISTING STEEL BAR JOISTS
25. EXISTING W30x99 STEEL BEAM
26. EXISTING STEEL COLUMN
27. W12x16 Fy=50ksi STEEL BEAM
28. EXISTING W27x94 STEEL BEAM
29. EXISTING W6x9 INTERSTITIAL BEAM
30. EXISTING INTERSTIAL JOIST FRAMING
31. PROVIDE C6x8.2 FRAMING @ EDGES OF NEW MECHANICAL UNIT. EXTEND

CHANNELS OVER (4) JOIST MINIMUM SEE B2/S301. PROVIDE ANGLE FRAMING
PER DECK PENETRATION DETAIL ON SHEET S001 @ NEW OPEINGS

32. EXISTING METAL DECK
33. EXISTING SUPPORT BRACKET FROM CONCRETE WALL
34. NEW STEEL COLUMN, SEE SHEET S401 FOR REQUIREMENTS
35. EXISTING W30x118 STEEL BEAM
36. EXISTING W12x14 STEEL BEAM
37. EXISTING W24x76 STEEL BEAM
38. EXISTING W27x84 STEEL BEAM
39. C12x30, SEE B5/S301
40. EXISTING C12x30
41. EXISTING W33x118 STEEL BEAM
42. 1-1/2" 18 GAGE VL TYPE FLOOR DECK WITH 2-1/2" OF LIGHT WEIGHT CONCRETE

(4" TOTAL THICKNESS) W/6x6 W2.1 x W2.1 WWF CENTERED IN CONCRETE.
MINIMUM DECK PROPERTIES +I=0.282in , -I=0.295in , +S=0.315in , -S=0.327in .
ATTACH WITH 36/7 PATTERN OF #12 TEK SCREWS @ SUPPORTS AND
BOUNDARIES AND (11) #10 TEK SCREWS @ SIDE LAPS. SPAN CONDITION

43. C12x30 Fy=36ksi STEEL BEAM
44. W12x19 Fy=50ksi STEEL BEAM
45. LIGHT GAGE HEADER BEAM, SEE EXTERIOR NON-LOAD BEARING HEADER DETAIL

S-001
46. EXISTING W6x9
47. NOT USED
48. W18x40 Fy=50ksi STEEL BEAM
49. W16x89 Fy=50ksi STEEL BEAM
50. W14x43 Fy=50ksi STEEL BEAM
51. W16x57 Fy=50ksi STEEL BEAM
52. HSS6x6x5/16 Fy=46ksi STEEL COLUMN
53. HSS5x5x1/4 Fy=46ksi STEEL COLUMN
54. HSS3x3x1/4 Fy=46ksi STEEL COLUMN
55. W18x86 Fy=50ksi STEEL BEAM
56. W18x106 Fy=50ksi STEEL BEAM
57. NEW LIGHT SUPPORT SECTION. SEE SECTION C4/S302 FOR FRAMING

REQUIREMENTS
58. CONTRACTOR TO VERIFY EXISTING 2ND FLOOR SLAB LEVEL. IF REQUIRED USE

SELF LEVELING FLOOR COMPOUND
59. NEW EQUIPMENT BOOM SUPPORT SECTION, SEE C3/S302
60. NEW O.R. TABLE SUPPORT, SEE SECTION C2/S302. COORDINATE TABLE

LOCATION WITH EQUIPMENT PLAN
61. W18x55 Fy=50ksi STEEL BEAM
62. EXISTING WALL TO REMAIN BELOW CORRIDOR
63. SAWCUT EXISTING WALL FOR NEW PENETRATION THRU WALL FOR NEW

CORRIDOR, SEE ARCHITECTURAL
64. MECHANICAL UNIT MAX WEIGHT 300lbs. SEE MECHANICAL

# Revisions Date



SCALE: SCALE: SCALE:

 FIXED BASE TABLE
ANCHORAGE SECTION

EQUIPMENT BOOM
SUPPORT SECTION LIGHT SUPPORT SECTION

3/4"=1'-0" 3/4"=1'-0" 3/4"=1'-0"C2 C3 C4

1/4
TYP.

3/16

1/4
TYP.

3/16

5

4

2

36

9

9

8

2

7

1

14 15

13

12 12

39

10

39

33

20

23

20 20

3/16 2@12
TYP.

41

20

33

32

22

32

30

23 20

40

3/16 2@12

33

23

23

22

32

29

30
32

20

3/16 2@12

40

39

19

20

3/16

1/4
PLATE TO

BEAM
10

22

23

23

23

23

3/16

2120

22 23

23 23

10

20

29

32

3032

36

23

1/8
TRACK TO

BEAM

3/16 2@12

PLATE TO
BEAM

20

36

38
29

32

30

37

32

33

35

30

32

32

3338

26

21 20

3/16 2@12

20

23

23

23 22 33

2024

27

28

2

27

9

28

42

6"

2

6"

VA
R

IE
S 

SE
E 

PL
AN

42

3/16
ANGLE
TO BEAM

2

27

28

43

3/16

2
27

42

47

25

38

BEYOND
33

23

21

11

10

20

3/16

3/16 2@12

20

23

23

23

20

33

38

58

22

1/4
PLATE TO
PLATE

T.O. BEAM
EL=SEE PLAN

1

3/16 2@12

13

26

2

2

2623

3

52

2

49

27

27

43

2

28

42

20

--

47

27

28

2

27

50

2

VA
R

IE
S 

SE
E 

PL
AN

42

43

50

GRID
1"

C COLLC GRID=L
C BEAML

20

10

46

55

54

56

23

23 2323

51

52

23

57

54

55

53 53

57

Date

Project Number

Drawing Number

Dwg.

Building Number

Project TitleDrawing Title

OfArchitect Engineer

on
e-

ei
gh

th
 in

ch
 =

 o
ne

 fo
ot

0
4

8
16

on
e-

qu
ar

te
r i

nc
h 

= 
on

e 
fo

ot
0

4
8

th
re

e -
ei

gh
th

s  
in

ch
 =

 o
ne

 fo
ot

on
e-

ha
lf 

in
ch

 =
 o

ne
 fo

ot
th

re
e -

qu
ar

te
r  i

nc
h 

= 
o n

e 
fo

ot
on

e 
in

ch
 =

 o
n e

 fo
ot

on
e 

an
d 

on
e -

ha
lf 

in
ch

es
 =

 o
ne

 fo
ot

th
re

e  
in

ch
es

 =
 o

ne
 fo

ot
0

6
0

6
1

0
6

2
2

0
6

0
4

0
4

Office of
Construction
and Facilities
ManagementLocation

Checked Drawn

Approved: Project Director

ARCHITECT/ENGINEERSCONSULTANTS:

COMPLETION ITEM NO. _____
FULLY SPRINKLERED

A

B

C

D

E

1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

E

April 23, 2011

501-320AMBULATORY SURGERY EXPANSION
FRAMING SECTIONS

S302

39. 3/8" SHEAR PLATE WITH THE FOLLOWING REQUIREMENTS:
40. 1/4" CONTINUOUS CLOSURE PLATE
41. 3/4" DIA. x 11" x 11" BASE PLATE W/3/4 DIA. A36 THREADED RODS EMBEDDED 3"

INTO EXISTING WALK & EPOXY W/ EPCPN A7 ADHESIVE OR EQUAL
42. 5/8" DIA. HANGER ROD W/DOUBLE NUTS
43. HSS3x3x1/4 @ EACH HANGER
44. 5/8"x9"x9"  BASE PLATE  W/(4)1/2" DIA. x 2" EMBED EXPANSION ANCHORS INTO

EXISTING CONCRETE SLAB
45. 3/8" CAP PLATE
46. 3/8" STIFFENER PLATE FULL HEIGHT OF WEB EACH SIDE OF BEAM
47. BOTTOM OF PURLIN COVERED WITH 2 HOUR FIRE PROOFING, SEE

ARCHITECTURAL
48. EXISTING HANGER
49. STEEL TRUSS, SEE PLAN
50. L4x3x1/4 LLV BETWEEN BEAMS
51. UNISTRUT P1001 (1 EACH SIDE OF MECHANICAL UNIT)
52. UNISTRUT P1000 BRACE PLACED AT 45 DEGREE ANGLE FROM STEEL BEAM
53. UNISTRUT P1000
54. 3/8" DIA. THREADED ROD FOUR LOCATIONS WITH P1007 CHANNEL NUT
55. UNISTRUT P2899-50 BEAM CLAMP OR EQUAL
56. MECHANICAL UNIT, SEE MECHANICAL
57. UNISTRUT P1843 ADJUSTABLE HINGE AT EACH END OF BRACE WITH P1006

CHANNEL NUT
58. 3/4"x19"x2'-2" PLATE W/(8) 3/4" DIA A36 THREADED RODS EMBEDDED 6" INTO

EXISTING CONCRETE WALL & EPOXY W/ SIMPSON SET XP ADHESIVE OR EQUAL.
CUT THREADED RODS FLUSH W/FACE OF PLATE AS REQUIRED AND WELD ROD TO
PLATE

1. EXISTING CONCRETE FLOOR SYSTEM
2. NEW W6x9 SUPPORT BEAM BETWEEN INTERSTITIAL BEAMS
3. (4)3/4" A325 BOLTS THRU DECK IN HOLES NO LONGER THAN 13/16" DIA. PROVIDE

DOUBLE NUTS TOP & BOTTOM @ BOTTOM OF DECK
4. 13.78" x 13.78" MOUNTING PLATE PROVIDED BY TRUMPF
5. TRUMPF SUSPENSION TUBE PLATE & CEILING COVER
6. 14"x14"x3/4" THICK SUPPORT PLATE CENTERED ON W6x9 & WELDED TO W6x9
7. 24"x24"x1" THICK SUPPORT PLATE CENTERED  ON W6x9 & WELDED TO W6x9
8. TRUMPF EMS MOUNTING SYSTEM
9. CEILING, SEE ARCHITECTURAL

10. STEEL COLUMN, SEE PLAN
11. 3/8" x 6" x 1'-0" CAP W/(4)3/4" DIA. A325N BOLTS TO BEAM
12. EXISTING STEEL BEAM
13. TRUMPH LEVELING RING SET ON 1" WIDE BEARING PAD ALL AROUND
14. (8)12MM DIA. HILTI HIS STAINLESS STEEL THREADED INSERTS USING HILTI HY-150

MAX INJECTION ADHESIVE OR EQUAL
15. 5" DIA. CORED HOLE
16. 3/8" THICK SHEAR PLATE
17. (4)3/8" THICK STIFFENER PLATES
18. HSS2x2x3/16 Fy=46ksi BRACING TUBES
19. 3/8" THICK SHEAR PLATE W/(2) ROWS OF 1" DIA. A325N BOLTS (6 TOTAL) TO NEW

BEAM
20. STEEL BEAM, SEE PLAN FOR REQUIREMENTS
21. 3/8" SHEAR PLATE W/(3) 1" DIA. A325N BOLTS
22. L4-1/2 x 4 -1/2 x 1/4 CONTINUOUS
23. EXISTING STRUCTURE TO REMAIN
24. 3/8" SHEAR PLATE W/(2) ROWS OF 1" DIA. A325N BOLTS (4 TOTAL) IN SHORT

SLOTTED HORIZONTAL HOLES
25. L4x4x1/4 CONTINUOUS
26. EXISTING INTERSTITIAL FLOOR DECK
27. METAL DECK AND CONCRETE BETWEEN BEAMS, SEE PLAN
28. 3/8"x3" BENT PLATE
29. NEW CONTINUOUS 16GAGE TRACK
30. STEEL STUDS, SEE PLAN
31. CONT. BENT PLATE 1/4" x 4-1/2" x 4-1/2"
32. SHEATHING, SEE ARCHITECTURAL
33. METAL DECK WITH CONCRETE, SEE PLAN
34. L4x4x1/4 CONT. W/3/4" DIA. A36 THREADED RODS EMBEDDED 6" INTO EXISTING

CONCRETE WALL & EPOXY WITH EPCON A7 ADHESIVE OR EQUAL. PROVIDE 3/8"
STIFFENER PLATE @ 2'-0" O.C.

35. NEW CONT 16GAGE VERTICAL DEFLECTION TRACK
36. MECHANICAL CHASE
37. LIGHT GAGE DECK CLOSURE
38. 1/4"x3"x1'-2" LONG CONTINUOUS BENT PLATE

SHEET KEYNOTES

Scale: 3/4" = 1'-0"B1 SECTION
Scale: 3/4" = 1'-0"B2 SECTION

Scale: 3/4" = 1'-0"B3 SECTION

Scale: 3/4" = 1'-0"B5 SECTION

Scale: 3/4" = 1'-0"C5 SECTION

Scale: 3/4" = 1'-0"A4 SECTION
Scale: 3/4" = 1'-0"A3 SECTION

Scale: 3/4" = 1'-0"A2 SECTION

Scale: 3/4" = 1'-0"B4 SECTION

BEAM SIZE BOLT SIZE
NUMBER

REQUIRED
W10 1" DIA. A325N 2

W12,14 1" DIA. A325N 3
W16 1" DIA. A325N 4
W18 1" DIA. A325N 5
W21 1" DIA. A325N 6
W24 1" DIA. A325N 7
W27 1" DIA. A325N 8
W30 1" DIA. A325N 9

Scale: 3/4" = 1'-0"C1 SECTION

Scale: 3/4" = 1'-0"D5 SECTION

Scale: 3/4" = 1'-0"A1 SECTION

Scale: 3/4" = 1'-0"D4 SECTION
Scale: 3/4" = 1'-0"D3 SECTION

Scale: 3/4" = 1'-0"D2 SECTION
Scale: 3/4" = 1'-0"D1 SECTION

Scale: 1/2" = 1'-0"A5 SECTION

# Revisions Date



1. W33x118 Fy=50ksi STEEL BEAM
2. 11/2" 18 GAGE VL TYPE FLOOR DECK WITH 3" OF NORMAL WEIGHT CONCRETE

(4-1/2" TOTAL THICKNESS) W/6x6 W2.1 x W2.1 WWF CENTERED IN CONCRETE.
PROVIDE #12 TEK SCREWS IN 36/4 PATTERN TO SUPPORTS AND #10 TEK
SCREWS @ 12" O.C. @ SIDELAPS. MINIMUM DECK PROPERTIES +I=0.282in ,
-I=0.295in , +S=0.315in , -S=0.327in . ATTACH WITH 36/7 PATTERN OF 312 TEK
SCREWS @ SUPPORTS AND BOUNDARIES AND (11) #10 TEK SCREWS @ SIDE
LAPS. MAINTAIN 2 SPAN MINIMUM.

3. EXISTING 14x22 STEEL BEAM
4. TYPICAL BEAM SPLICE AS REQUIRED, SEE SECTION C5/S301
5. EXISTING W14x132 STEEL COLUMN
6. EXISTING W14x176 STEEL COLUMN
7. EXISTING W14x257 STEEL COLUMN
8. OPENING IN DECK, SEE DECK PENETRATION DETAIL ON SHEET S001
9. 1-5/8" x 6" x 20GAGE STEEL STUDS @ 16" O.C. SEE ARCHITECTRAL FOR

SHEATHING REQUIREMETNS
10. NEW MECHANICAL UNIT. PROVIDE L4x4x1/4 CONTINUOUS @ ALL EDGES OF

MECHANICAL UNIT. PROVIDE FRAMING PER DECK PENETRATION DETAIL ON
SHEET S001 FOR ANY PENETRATIONS THRU DECK. PROVIDE POSITIVE
ATTACHMENT TO SUPPORT PER MANUFACTURER

11. W16x31 Fy=50ksi
12. W16x26 Fy=50ksi STEEL BEAM
13. W6x9 STEEL BEAM Fy=50ksi @ 7'-6" O.C.± TO MATCH BEAM SPACING ABOVE
14. W12x14 STEEL BEAM Fy=50ksi
15. W21x44 Fy=50ksi STEEL BEAM @ SPACING SHOWN
16. W24x55 Fy=50ksi STEEL BEAM
17. W21x44 Fy=50ksi STEEL BEAM
18. STEEL TRUSS, SEE A2/S201
19. W21x50 Fy=50ksi STEEL BEAM
20. EXISTING W14x159 STEEL COLUMN
21. (2)1-5/8"x8" x 18GA STUD HEADER BEAM
22. EXISTING W14x109 STEEL COLUMN
23. EXISTING W14x90 STEEL COLUMN
24. EXISTING STEEL BAR JOISTS
25. EXISTING W30x99 STEEL BEAM
26. EXISTING STEEL COLUMN
27. W12x16 Fy=50ksi STEEL BEAM
28. EXISTING W27x94 STEEL BEAM
29. EXISTING W6x9 INTERSTITIAL BEAM
30. EXISTING INTERSTIAL JOIST FRAMING
31. PROVIDE C6x8.2 FRAMING @ EDGES OF NEW MECHANICAL UNIT. EXTEND

CHANNELS OVER (4) JOIST MINIMUM SEE B2/S301. PROVIDE ANGLE FRAMING
PER DECK PENETRATION DETAIL ON SHEET S001 @ NEW OPEINGS

32. EXISTING METAL DECK
33. EXISTING STUD WALL TO REMAIN
34. NEW STEEL COLUMN, SEE SHEET S401 FOR REQUIREMENTS
35. EXISTING W30x118 STEEL BEAM
36. EXISTING W12x14 STEEL BEAM
37. EXISTING W24x76 STEEL BEAM
38. EXISTING W27x84 STEEL BEAM
39. C12x30, SEE B5/S301
40. EXISTING C12x30
41. EXISTING W33x118 STEEL BEAM
42. 1-1/2" 18 GAGE VL TYPE FLOOR DECK WITH 2-1/2" OF NORMAL WEIGHT

CONCRETE (4" TOTAL THICKNESS) W/6x6 W2.1 x W2.1 WWF CENTERED IN
CONCRETE. MINIMUM DECK PROPERTIES +I=0.282in ,
-I=0.295in , +S=0.315in , -S=0.327in . ATTACH WITH 36/7 PATTERN OF #12 TEK
SCREWS @ SUPPORTS AND BOUNDARIES AND (11) #10 TEK SCREWS @ SIDE
LAPS. MAINTAIN 2 SPAN MINIMUM.

43. C12x30
44. W12x19 Fy=50ksi STEEL BEAM
45. LIGHT GAGE HEADER BEAM, SEE EXTERIOR NON-LOAD BEARING HEADER DETAIL

S-001
46. SEE EXISTING CONCRETE SHEARWALL MODIFICATION DETAIL FOR

REQUIREMENTS ON SHEET S-001
47. EXISTING CONCRETE SHEAR WALL. SHEAR WALL WILL BE SAW CUT TO PRODUCE

THREE SEGMENTS OF SHEAR WALL IN LIEU OF THE CURRENT ONE LONG SEGMENT
48. W18x40 Fy=50ksi STEEL BEAM
49. W14x99 Fy=50ksi STEEL BEAM
50. W14x43 Fy=50ksi STEEL BEAM
51. W16x57 Fy=50ksi STEEL BEAM
52. HSS6x6x5/16 Fy=46ksi STEEL COLUMN
53. HSS5x5x1/4 Fy=46ksi STEEL COLUMN
54. HSS3x3x1/4 Fy=46ksi STEEL COLUMN
55. W18x86 Fy=50ksi STEEL BEAM
56. W18x106 Fy=50ksi STEEL BEAM
57. NEW MEDICAL EQUIPMENT. SEE SHEET S302 FOR FRAMING REQUIREMENTS
58. CONTRACTOR TO VERIFY EXISTING 2ND FLOOR SLAB LEVELNESS AND USE

SELF LEVELING FLOOR COMPOUND TO ACHIEVE FLAT SURFACE
59. UNISTRUT P1001
60. 3/8" DIA. THREADED ROD FOUR LOCATIONS WITH P1007 CHANNEL NUT
61. MECHANICAL UNIT, SEE MECHANICAL
62. UNISTRUT P1000
63. UNISTRUT P1000 BRACE AT 45 DEGREE ANGLE FROM STEEL BEAM
64. UNISTRUT P2867A-12
65. MECHANICAL UNIT, MAX WEIGHT 1100lbs. SEE MECHANICAL
66. UNISTRUT P1843 ADJUSTABLE HINGE AT EACH END OF BRACE WITH P1006

CHANNEL NUT
STEEL BEAM, SEE PLAN FOR REQUIREMENTS
METAL DECK WITH CONCRETE, SEE PLAN
BENT PLATE 1/4"x4"x9" LLH CONT.
16GA CONT. TRACK
SHEATHING, SEE ARCH
STEEL STUDS, SEE PLAN
16GA VERTICAL DEFLECTION TRACK

67.
68.
69.
70.
71.
72.
73.

UP

UP

1

C

D

1.5 2

53 52

53
52

C.8

C.2

C.4

C.6

1.4 1.8

54

54

7'
 - 

8"
9'

 - 
0 

1/
2"

17
' -

 7
"

12
' -

 4
"

7'
 - 

4 
1/

2"

17' - 6 1/2" 4' - 5 1/2" 13' - 3" 9' - 3"

A4
S301

A5
S301

58
B1

S302

B3
S302

B2
S302

3

38

T.O. EXISTING DECK
EL=100'-0" F.V.

B3
S302

B1
S302

D4
S302

54

A5
S302

65
BELOW

10

10

1

C

D

1.5 2

C.8

C.2

C.4

C.6

1.4 1.8

55

5655

19

53 15 52 44

42

53 15 52 44

44

54

14

44

54 14

T.O. BEAM
EL=102'-0"

T.O. BEAM
EL=102'-0"

T.O. BEAM
EL=102'-0" A4

S301

A5
S301

A4
S301

B1
S302

B3
S302

B2
S302

B2
S301

TYP.

10

10

B3
S302

B1
S302

D4
S302

53

A5
S302

EXISTING CONCRETE WALL

1-5/8" x 6" x 20GAGE STEEL STUDS @ 16" O.C.

FIELD VERIFYFV

RAISED INTERSTITIAL FLOOR AREA

A3
S401

46
47

47

47

8

C

1

60

67

67

72

71

67

69

71

72

6870

66

63

59

60

61

64

5964

5959

73

70

66

KEY PLAN 2ND FLOOR

D A

C B

Date

Project Number

Drawing Number

Dwg.

Building Number

Project TitleDrawing Title

OfArchitect Engineer

on
e-

ei
gh

th
 in

ch
 =

 o
ne

 fo
ot

0
4

8
16

on
e-

qu
ar

te
r i

nc
h 

= 
on

e 
fo

ot
0

4
8

th
re

e -
ei

gh
th

s  
in

ch
 =

 o
ne

 fo
ot

on
e-

ha
lf 

in
ch

 =
 o

ne
 fo

ot
th

re
e -

qu
ar

te
r  i

nc
h 

= 
o n

e 
fo

ot
on

e 
in

ch
 =

 o
n e

 fo
ot

on
e 

an
d 

on
e -

ha
lf 

in
ch

es
 =

 o
ne

 fo
ot

th
re

e  
in

ch
es

 =
 o

ne
 fo

ot
0

6
0

6
1

0
6

2
2

0
6

0
4

0
4

Office of
Construction
and Facilities
ManagementLocation

Checked Drawn

Approved: Project Director

ARCHITECT/ENGINEERSCONSULTANTS:

COMPLETION ITEM NO. _____
FULLY SPRINKLERED

A

B

C

D

E

1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

E

April 23, 2011

501-320AMBULATORY SURGERY EXPANSION
EXISTING 2ND FLOOR FRAMING PLAN                  2ND FLR. MECH.
PLATFORM FRAMING PLAN

S401

Scale: 1/8" = 1'-0"

EXISTING 2ND FLOOR FRAMING PLANC1 Scale: 1/8" = 1'-0"

2ND FLOOR MECHANICAL PLATFORM FRAMING PLANC3

GENERAL NOTES

SHEET KEYNOTES

LEGEND

Scale: 1" = 40'-0"

LATERAL SYSTEM MODIFICATION KEY PLANA1 Scale: 1/8" = 1'-0"A3

MAIN ELEVATOR TOWERS
RETROFIT WORK AREA PLAN

Scale: 1/2" = 1'-0"A4 SECTION

# Revisions Date



EXISTING CONCRETE WALL

1-5/8" x 6" x 20GAGE STEEL STUDS @ 16" O.C.

FIELD VERIFYFV

RAISED INTERSTITIAL FLOOR AREA

C

D

1.5 2 3 4 5 6 7

13

29 22 22 22 22 20

30

30

2929292929

22

23

22 22 22 529 2929292929

30

C1
S301

C1
S301

3

42

42

42

4
TYP.

TYP.

3
TYP.

3
TYP.

4
TYP.

61

B4
S301

23

29

C2
S301

42

61 B4
S301

A1
S301

9

9

43

43

34

34

61

C.8

C.2

C.4

C.6

1.4 1.8

14

54

50

49

42

T.O. BEAM
EL=129'-8"

T.O. BEAM
EL=129'-8"

T.O. BEAM
EL=129'-8"

A1
S301

A1
S301

B1
S301

57

57

3
TYP.

B2
S301

57

59 59

57

57

57

A2
S302A1

S302

54BELOW

A1
S302

OPP

A2
S302

14

14

14

A4
S302

B2
S30114

OPP

B2
S301

A3
S302

A3
S302

1' - 0"

F.O. WALL

1' - 0"
F.O. WALL

14

14

14

14

14

14

54BELOW

3
TYP.

59

57

57

59 59

59
59 59

A5
S103

A5
S103

63

C1
S301

D1
S302

D2
S302

D5
S302

D1
S302

A6
S301

49

14

C.8

1.4

GRI
D

GRI
D

1"

C COL=
C GRID
L
L

C BEAML

KEY PLAN 3RD FLOOR

D A

C B

Date

Project Number

Drawing Number

Dwg.

Building Number

Project TitleDrawing Title

OfArchitect Engineer

on
e-

ei
gh

th
 in

ch
 =

 o
ne

 fo
ot

0
4

8
16

on
e-

qu
ar

te
r i

nc
h 

= 
on

e 
fo

ot
0

4
8

th
re

e -
ei

gh
th

s  
in

ch
 =

 o
ne

 fo
ot

on
e-

ha
lf 

in
ch

 =
 o

ne
 fo

ot
th

re
e -

qu
ar

te
r  i

nc
h 

= 
o n

e 
fo

ot
on

e 
in

ch
 =

 o
n e

 fo
ot

on
e 

an
d 

on
e -

ha
lf 

in
ch

es
 =

 o
ne

 fo
ot

th
re

e  
in

ch
es

 =
 o

ne
 fo

ot
0

6
0

6
1

0
6

2
2

0
6

0
4

0
4

Office of
Construction
and Facilities
ManagementLocation

Checked Drawn

Approved: Project Director

ARCHITECT/ENGINEERSCONSULTANTS:

COMPLETION ITEM NO. _____
FULLY SPRINKLERED

A

B

C

D

E

1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

E

December 14, 2010

501-320AMBULATORY SURGERY EXPANSION
PARTIAL FRAMING PLAN - 3RD FLOOR INTERSTITIAL

S103

GENERAL NOTES

SHEET KEYNOTES

LEGEND

1. FIELD VERIFY ALL DIMENSIONS
2. EXISTING SECOND FLOOR FINISH FLOOR ELEVATION=100'-0"= MSLE 5366.0
3. EXISTING 2nd FLOOR INTERSTITIAL FINISHED FLOOR ELEVATION =110'-0" TO BE

FIELD VERIFIED
4. EXISTING 3rd FLOOR FINISHED FLOOR ELEVATION =118'-0" TO BE FIELD VERIFIED
5. EXISTING 3rd FLOOR INTERSTITIAL FINISHED FLOOR ELEVATION =128'-0" TO BE

FIELD VERIFIED
6. EXISTING 4th FLOOR FINISHED FLOOR ELEVATION =136'-0" TO BE FIELD VERIFIED

1. W33x118 Fy=50ksi STEEL BEAM
2. 11/2" 18 GAGE VL TYPE FLOOR DECK WITH 3-1/2" OF NORMAL WEIGHT CONCRETE

(5" TOTAL THICKNESS) W/6x6 W2.1 x W2.1 WWF CENTERED IN CONCRETE.
MINIMUM DECK PROPERTIES +I=0.282in , -I=0.295in , +S=0.315in , -S=0.327in .
ATTACH WITH 36/7 PATTERN OF #12 TEK SCREWS @ SUPPORTS AND
BOUNDARIES AND (11) #10 TEK SCREWS @ SIDE LAPS. MAINTAIN 2 SPAN
MINIMUM. PROVIDE ROOFING AS REQUIRED PER ARCHITECTURAL DRAWINGS

3. HANGER ROD TO FLOOR BEAM ABOVE, TYPICAL. SEE PLAN FOR SPACING. SEE
SECTION E5/S301 FOR CONNECTION TO INTERSTITIAL BEAM AND SECTION
B3/S301 FOR FOR CONNECTION TO FRAMING BEAM ABOVE.

4. TYPICAL BEAM SPLICE AS REQUIRED, SEE SECTION C5/S301
5. EXISTING W14x132 STEEL COLUMN
6. EXISTING W14x176 STEEL COLUMN
7. EXISTING W14x257 STEEL COLUMN
8. OPENING IN DECK, SEE DECK PENETRATION DETAIL ON SHEET S001
9. 1-5/8" x 6" x 20GAGE STEEL STUDS @ 16" O.C. SEE ARCHITECTRAL FOR

SHEATHING REQUIREMETNS
10. KICK BRACE, SEE E4/S301
11. W16x31 Fy=50ksi
12. W16x26 Fy=50ksi STEEL BEAM
13. W6x9 STEEL BEAM Fy=50ksi @ 7'-6" O.C.± TO MATCH BEAM SPACING ABOVE
14. W12x14 STEEL BEAM Fy=50ksi
15. W21x44 Fy=50ksi STEEL BEAM @ SPACING SHOWN
16. W24x55 Fy=50ksi STEEL BEAM
17. W21x44 Fy=50ksi STEEL BEAM
18. STEEL TRUSS, SEE A2/S201
19. W21x50 Fy=50ksi STEEL BEAM
20. EXISTING W14x159 STEEL COLUMN
21. (2)1-5/8"x8" x 18GA STUD HEADER BEAM
22. EXISTING W14x109 STEEL COLUMN
23. EXISTING W14x90 STEEL COLUMN
24. EXISTING STEEL BAR JOISTS
25. EXISTING W30x99 STEEL BEAM
26. EXISTING STEEL COLUMN
27. W12x16 Fy=50ksi STEEL BEAM
28. EXISTING W27x94 STEEL BEAM
29. EXISTING W6x9 INTERSTITIAL BEAM
30. EXISTING INTERSTIAL JOIST FRAMING
31. PROVIDE C6x8.2 FRAMING @ EDGES OF NEW MECHANICAL UNIT. EXTEND

CHANNELS OVER (4) JOIST MINIMUM SEE B2/S301. PROVIDE ANGLE FRAMING
PER DECK PENETRATION DETAIL ON SHEET S001 @ NEW OPEINGS

32. EXISTING METAL DECK
33. EXISTING SUPPORT BRACKET FROM CONCRETE WALL
34. NEW STEEL COLUMN, SEE SHEET S401 FOR REQUIREMENTS
35. EXISTING W30x118 STEEL BEAM
36. EXISTING W12x14 STEEL BEAM
37. EXISTING W24x76 STEEL BEAM
38. EXISTING W27x84 STEEL BEAM
39. C12x30, SEE B5/S301
40. EXISTING C12x30
41. EXISTING W33x118 STEEL BEAM
42. 1-1/2" 18 GAGE VL TYPE FLOOR DECK WITH 2-1/2" OF LIGHT WEIGHT CONCRETE

(4" TOTAL THICKNESS) W/6x6 W2.1 x W2.1 WWF CENTERED IN CONCRETE.
MINIMUM DECK PROPERTIES +I=0.282in , -I=0.295in , +S=0.315in , -S=0.327in .
ATTACH WITH 36/7 PATTERN OF #12 TEK SCREWS @ SUPPORTS AND
BOUNDARIES AND (11) #10 TEK SCREWS @ SIDE LAPS. SPAN CONDITION

43. C12x30 Fy=36ksi STEEL BEAM
44. W12x19 Fy=50ksi STEEL BEAM
45. LIGHT GAGE HEADER BEAM, SEE EXTERIOR NON-LOAD BEARING HEADER DETAIL

S-001
46. EXISTING W6x9
47. NOT USED
48. W18x40 Fy=50ksi STEEL BEAM
49. W16x89 Fy=50ksi STEEL BEAM
50. W14x43 Fy=50ksi STEEL BEAM
51. W16x57 Fy=50ksi STEEL BEAM
52. HSS6x6x5/16 Fy=46ksi STEEL COLUMN
53. HSS5x5x1/4 Fy=46ksi STEEL COLUMN
54. HSS3x3x1/4 Fy=46ksi STEEL COLUMN
55. W18x86 Fy=50ksi STEEL BEAM
56. W18x106 Fy=50ksi STEEL BEAM
57. NEW LIGHT SUPPORT SECTION. SEE SECTION C4/S302 FOR FRAMING

REQUIREMENTS
58. CONTRACTOR TO VERIFY EXISTING 2ND FLOOR SLAB LEVEL. IF REQUIRED USE

SELF LEVELING FLOOR COMPOUND
59. NEW EQUIPMENT BOOM SUPPORT SECTION, SEE C3/S302
60. NEW O.R. TABLE SUPPORT, SEE SECTION C2/S302. COORDINATE TABLE

LOCATION WITH EQUIPMENT PLAN
61. W18x55 Fy=50ksi STEEL BEAM
62. EXISTING WALL TO REMAIN BELOW CORRIDOR
63. SAWCUT EXISTING WALL FOR NEW PENETRATION THRU WALL FOR NEW

CORRIDOR, SEE ARCHITECTURAL

Scale: 1/8" = 1'-0"

3RD FLOOR INTERSTITIAL FRAMING PLAN (INTERSTITIAL SPACE ABOVE 3rd FLOOR)A1
Scale: 1/2" = 1'-0"A5 BEAM OFFSET DETAIL

# Revisions Date



C

D

1.5 2 3 4 5 6 7

51 12 12 12 12

23
22

22 22 22 20

25

25

2525252525

22

18
18

18 18

18

23 22 22 22

5

25 2525252525

2

2

2

2

2

C2
S301

C1
S301

C1
S301

C1
S301

E4
S301

T.O. BEAM
EL=135'-7"
TYP.

E4
S-301

E4
S201

E4
S201

25

38

25 41 41

2525

41

28

C3A
S301

1

38

25

36

40

38

36

36

40

C1
S301

5'
 - 

4"
5'

 - 
4"

36

C.8

C.2

C.4

C.6

1.4 1.8

1212

T.O. BEAM
EL=135'-7"
TYP.

1212

B2A
S301

B2A
S301

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

2

T.O. BEAM
EL=135'-7"
TYP.

C4
S201

LOW

HIGH

TYP.

C4
S201

HIGH

LOW

T.O. BEAM
EL=135'-7"
TYP.

T.O. BEAM
EL=135'-7"
TYP.

TYP.

B5
S301

B5
S301

48 16

16

8

EQ
EQ

EQ
EQ

EQ
EQ

F.
V.

7'
 - 

2 
1/

2"
 ±

F.
V.

7'
 - 

2 
1/

2"
 ±

F.
V.

7'
 - 

2 
1/

2"
 ±

F.
V.

7'
 - 

2 
1/

2"
 ±

F.
V.

7'
 - 

2 
1/

2"
 ±

F.
V.

7'
 - 

2 
1/

2"
 ±EL= 135' - 7"EL= 135' - 7"

EXISTING CONCRETE WALL

1-5/8" x 6" x 20GAGE STEEL STUDS @ 16" O.C.

FIELD VERIFYFV

RAISED INTERSTITIAL FLOOR AREA

Date

Project Number

Drawing Number

Dwg.

Building Number

Project TitleDrawing Title

OfArchitect Engineer

on
e-

ei
gh

th
 in

ch
 =

 o
ne

 fo
ot

0
4

8
16

on
e-

qu
ar

te
r i

nc
h 

= 
on

e 
fo

ot
0

4
8

th
re

e -
ei

gh
th

s  
in

ch
 =

 o
ne

 fo
ot

on
e-

ha
lf 

in
ch

 =
 o

ne
 fo

ot
th

re
e -

qu
ar

te
r  i

nc
h 

= 
o n

e 
fo

ot
on

e 
in

ch
 =

 o
n e

 fo
ot

on
e 

an
d 

on
e -

ha
lf 

in
ch

es
 =

 o
ne

 fo
ot

th
re

e  
in

ch
es

 =
 o

ne
 fo

ot
0

6
0

6
1

0
6

2
2

0
6

0
4

0
4

Office of
Construction
and Facilities
ManagementLocation

Checked Drawn

Approved: Project Director

ARCHITECT/ENGINEERSCONSULTANTS:

COMPLETION ITEM NO. _____
FULLY SPRINKLERED

A

B

C

D

E

1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

E

December 14, 2010

501-320AMBULATORY SURGERY EXPANSION
PARTIAL FRAMING PLAN - ROOF/4TH FLOOR

S104

Scale: 1/8" = 1'-0"

ROOF PLAN & 4TH FLOOR FRAMING PLANA1

GENERAL NOTES

SHEET KEYNOTES

LEGEND

1. FIELD VERIFY ALL DIMENSIONS
2. EXISTING SECOND FLOOR FINISH FLOOR ELEVATION=100'-0"= MSLE 5366.0
3. EXISTING 2nd FLOOR INTERSTITIAL FINISHED FLOOR ELEVATION =110'-0" TO BE

FIELD VERIFIED
4. EXISTING 3rd FLOOR FINISHED FLOOR ELEVATION =118'-0" TO BE FIELD VERIFIED
5. EXISTING 3rd FLOOR INTERSTITIAL FINISHED FLOOR ELEVATION =128'-0" TO BE

FIELD VERIFIED
6. EXISTING 4th FLOOR FINISHED FLOOR ELEVATION =136'-0" TO BE FIELD VERIFIED

1. W33x118 Fy=50ksi STEEL BEAM
2. 11/2" 18 GAGE VL TYPE FLOOR DECK WITH 3-1/2" OF NORMAL WEIGHT CONCRETE

(5" TOTAL THICKNESS) W/6x6 W2.1 x W2.1 WWF CENTERED IN CONCRETE.
MINIMUM DECK PROPERTIES +I=0.282in , -I=0.295in , +S=0.315in , -S=0.327in .
ATTACH WITH 36/7 PATTERN OF #12 TEK SCREWS @ SUPPORTS AND
BOUNDARIES AND (11) #10 TEK SCREWS @ SIDE LAPS. MAINTAIN 2 SPAN
MINIMUM. PROVIDE ROOFING AS REQUIRED PER ARCHITECTURAL DRAWINGS

3. HANGER ROD TO FLOOR BEAM ABOVE, TYPICAL. SEE PLAN FOR SPACING. SEE
SECTION E5/S301 FOR CONNECTION TO INTERSTITIAL BEAM AND SECTION
B3/S301 FOR FOR CONNECTION TO FRAMING BEAM ABOVE.

4. TYPICAL BEAM SPLICE AS REQUIRED, SEE SECTION C5/S301
5. EXISTING W14x132 STEEL COLUMN
6. EXISTING W14x176 STEEL COLUMN
7. EXISTING W14x257 STEEL COLUMN
8. OPENING IN DECK, SEE DECK PENETRATION DETAIL ON SHEET S001
9. 1-5/8" x 6" x 20GAGE STEEL STUDS @ 16" O.C. SEE ARCHITECTRAL FOR

SHEATHING REQUIREMETNS
10. KICK BRACE, SEE E4/S301
11. W16x31 Fy=50ksi
12. W16x26 Fy=50ksi STEEL BEAM
13. W6x9 STEEL BEAM Fy=50ksi @ 7'-6" O.C.± TO MATCH BEAM SPACING ABOVE
14. W12x14 STEEL BEAM Fy=50ksi
15. W21x44 Fy=50ksi STEEL BEAM @ SPACING SHOWN
16. W24x55 Fy=50ksi STEEL BEAM
17. W21x44 Fy=50ksi STEEL BEAM
18. STEEL TRUSS, SEE A2/S201
19. W21x50 Fy=50ksi STEEL BEAM
20. EXISTING W14x159 STEEL COLUMN
21. (2)1-5/8"x8" x 18GA STUD HEADER BEAM
22. EXISTING W14x109 STEEL COLUMN
23. EXISTING W14x90 STEEL COLUMN
24. EXISTING STEEL BAR JOISTS
25. EXISTING W30x99 STEEL BEAM
26. EXISTING STEEL COLUMN
27. W12x16 Fy=50ksi STEEL BEAM
28. EXISTING W27x94 STEEL BEAM
29. EXISTING W6x9 INTERSTITIAL BEAM
30. EXISTING INTERSTIAL JOIST FRAMING
31. PROVIDE C6x8.2 FRAMING @ EDGES OF NEW MECHANICAL UNIT. EXTEND

CHANNELS OVER (4) JOIST MINIMUM SEE B2/S301. PROVIDE ANGLE FRAMING
PER DECK PENETRATION DETAIL ON SHEET S001 @ NEW OPEINGS

32. EXISTING METAL DECK
33. EXISTING SUPPORT BRACKET FROM CONCRETE WALL
34. NEW STEEL COLUMN, SEE SHEET S401 FOR REQUIREMENTS
35. EXISTING W30x118 STEEL BEAM
36. EXISTING W12x14 STEEL BEAM
37. EXISTING W24x76 STEEL BEAM
38. EXISTING W27x84 STEEL BEAM
39. C12x30, SEE B5/S301
40. EXISTING C12x30
41. EXISTING W33x118 STEEL BEAM
42. 1-1/2" 18 GAGE VL TYPE FLOOR DECK WITH 2-1/2" OF LIGHT WEIGHT CONCRETE

(4" TOTAL THICKNESS) W/6x6 W2.1 x W2.1 WWF CENTERED IN CONCRETE.
MINIMUM DECK PROPERTIES +I=0.282in , -I=0.295in , +S=0.315in , -S=0.327in .
ATTACH WITH 36/7 PATTERN OF #12 TEK SCREWS @ SUPPORTS AND
BOUNDARIES AND (11) #10 TEK SCREWS @ SIDE LAPS. SPAN CONDITION

43. C12x30 Fy=36ksi STEEL BEAM
44. W12x19 Fy=50ksi STEEL BEAM
45. LIGHT GAGE HEADER BEAM, SEE EXTERIOR NON-LOAD BEARING HEADER DETAIL

S-001
46. EXISTING W6x9
47. NOT USED
48. W18x40 Fy=50ksi STEEL BEAM
49. W16x89 Fy=50ksi STEEL BEAM
50. W14x43 Fy=50ksi STEEL BEAM
51. W16x57 Fy=50ksi STEEL BEAM
52. HSS6x6x5/16 Fy=46ksi STEEL COLUMN
53. HSS5x5x1/4 Fy=46ksi STEEL COLUMN
54. HSS3x3x1/4 Fy=46ksi STEEL COLUMN
55. W18x86 Fy=50ksi STEEL BEAM
56. W18x106 Fy=50ksi STEEL BEAM
57. NEW LIGHT SUPPORT SECTION. SEE SECTION C4/S302 FOR FRAMING

REQUIREMENTS
58. CONTRACTOR TO VERIFY EXISTING 2ND FLOOR SLAB LEVEL. IF REQUIRED USE

SELF LEVELING FLOOR COMPOUND
59. NEW EQUIPMENT BOOM SUPPORT SECTION, SEE C3/S302
60. NEW O.R. TABLE SUPPORT, SEE SECTION C2/S302. COORDINATE TABLE

LOCATION WITH EQUIPMENT PLAN
61. W18x55 Fy=50ksi STEEL BEAM
62. EXISTING WALL TO REMAIN BELOW CORRIDOR
63. SAWCUT EXISTING WALL FOR NEW PENETRATION THRU WALL FOR NEW

CORRIDOR, SEE ARCHITECTURAL

# Revisions Date



7/16
EA. SIDE

7/16 20" 1

10

4
10

2"

WP

7/16 9" MIN.

1/4 3 SIDES 4

10

5/16

WP

1

2"

7/16 3 SIDES
EA. SIDE

7/16
EA. SIDE

10
4

10

WP

7/16 3 SIDES
EA. SIDE

1

7/16

WP

1

5

10

4 2

7/16 3 SIDES

E5
S201

7

8

1

6

5/16

5/16

9

8
BELOW

7/16

10

4

10

11

WP

7/16 3 SIDES
EA SIDE

2"

7/16 9" MIN
EA SIDE

10 10

4
1/4 3 SIDES

5/16 3 SIDES
EA. SIDE

5/16

11

10

WP

2"

7/16 3 SIDES
7" MIN.

EA. SIDE
LL8x4x1/2

5/16 3 SIDES
4" MIN.

EA. SIDE
LL6x4x3/8

7/16

11

10

7/16 3 SIDES
9" MIN.

EA. SIDE OF
LL8x4x1/2

5/16 3 SIDES
9" MIN.

EA. SIDE OF
LL6x4x3/8

4

10

WP

2"

11 12

1/4
TYP.

24

1"
2"

10"

WP

13 5/16

5

1/4 3 SIDES

14
4

17 16

1515

16

1 11

FIELD VERIFY 

54' - 0"

18
18

18

18

21

21
20

21

21

18

18

18

18

18

22

23

EQ EQ

EQ EQ

E4
S201 OPP

C4
S201 OPP

C3
S201

C5
S201

C2
S201

C3
S201

OPP

C4
S201

E4
S201

T.O. TRUSS
EL=SEE PLAN

5' - 4" 6 EQUAL SPACES 5' - 4"

E3
S201

E2
S201

C5
S201

C  EXISTING
COLUMN
L

C1
S201

E1
S201

B5
S201

B4
S201

C  EXISTING
COLUMN
L

4'
 - 

8"

7/16
EA. SIDE

7/16 20" 1

10

4
10

2"

WP

2"

2"

3" 3"

25
TYP

7/16

10

4

10

11

WP

7/16 3 SIDES
EA SIDE

2"

7/16 9" MIN
EA SIDE

25
TYP

Date

Project Number

Drawing Number

Dwg.

Building Number

Project TitleDrawing Title

OfArchitect Engineer

on
e-

ei
gh

th
 in

ch
 =

 o
ne

 fo
ot

0
4

8
16

on
e-

qu
ar

te
r i

nc
h 

= 
on

e 
fo

ot
0

4
8

th
re

e -
ei

gh
th

s  
in

ch
 =

 o
ne

 fo
ot

on
e-

ha
lf 

in
ch

 =
 o

ne
 fo

ot
th

re
e -

qu
ar

te
r  i

nc
h 

= 
o n

e 
fo

ot
on

e 
in

ch
 =

 o
n e

 fo
ot

on
e 

an
d 

on
e -

ha
lf 

in
ch

es
 =

 o
ne

 fo
ot

th
re

e  
in

ch
es

 =
 o

ne
 fo

ot
0

6
0

6
1

0
6

2
2

0
6

0
4

0
4

Office of
Construction
and Facilities
ManagementLocation

Checked Drawn

Approved: Project Director

ARCHITECT/ENGINEERSCONSULTANTS:

COMPLETION ITEM NO. _____
FULLY SPRINKLERED

A

B

C

D

E

1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

E

December 14, 2010

501-320AMBULATORY SURGERY EXPANSION
TRUSS ELEVATION, SECTIONS AND DETAILS

S201

GENERAL NOTES

SHEET KEYNOTES

LEGEND

Scale: 3/4" = 1'-0"E1 DETAIL
Scale: 3/4" = 1'-0"E2 DETAIL

Scale: 3/4" = 1'-0"E3 DETAIL
Scale: 3/4" = 1'-0"E4 DETAIL

Scale: 3/4" = 1'-0"E5 DETAIL

Scale: 3/4" = 1'-0"C1 DETAIL
Scale: 3/4" = 1'-0"C2 DETAIL

Scale: 3/4" = 1'-0"C3 DETAIL
Scale: 3/4" = 1'-0"C4 DETAIL

Scale: 3/4" = 1'-0"C5 DETAIL

Scale: 1/2" = 1'-0"A2 TRUSS ELEVATION

1. TRUSS TOP CHORD, SEE TRUSS ELEVATION
2. BEARING SEAT, SEE E5/S201
3. (6)7/8" DIA. A325 SLIP CRITICAL BOLTS
4. 3/4" PLATE
5. EXISTING COLUMN, SEE PLAN
6. 3/4" STIFFENER PLATE
7. 5/8" PLATE
8. 1" PLATE
9. 3/4" A325 BOLT IN LONG SLOTTED HOLE

10. TRUSS DIAGONAL OR VERTICAL MEMBER, SEE TRUSS ELEVATION
11. TRUSS BOTTOM CHORD, SEE TRUSS ELEVATION
12. L5x5x5/16x1'-0" EA. SIDE OF BOTTOM CHORD OF TRUSS
13. STABALIZER PLATE 1/2"x8"x0'-9"
14. (2) ROWS OF (6) 7/8" DIA. A325 SLIP CRITICAL BOLTS IN EACH FLANGE (TOTAL OF 48

FOR SPLICE)
15. PLATE 1/2"x4" (ON EACH SIDE OF WEB)
16. PLATE 1/2"x10"
17. (2)7/8" DIA. A325 BOLTS
18. LL8x4x1/2 LLV
19. LL6x4x3/8 LLV
20. LL4x4x3/8
21. LL6x4x3/8 LLV
22. W10x88
23. W10x77
24. DO NOT WELD ANGLES TO STABILIZER PLATE
25. 7/8" DIA. x 3-1/2" SLIP CRITICAL BOLTS

Scale: 3/4" = 1'-0"B5 DETAIL
Scale: 3/4" = 1'-0"B4 DETAIL

# Revisions Date



49

1/4
CHANNEL
TO PLATE

47

2

3/16 3"

1
3/16 3"13

6

27

@ B2

@ B2A

3/16

31

32

2

25

1

3/16
PLATE TO
ANGLE

6

6

6

3/16 2@12

PLATE TO
EXISTING
ANGLE

3/16 2@12
1

2

14

32

6 6 2

7

9

3/16 2@12

ANGLE TO
EXISTING
ANGLE

6

31

6

31
32 BEYOND

BEYOND

T.O. BEAM
EL=SEE PLAN

FIN. FLR.
EL=SEE PLAN

6

6

13

3/16
PLATE TO
BEAM

2
21

1

2

3/16
TYP.

32

7

2

T.O. BEAM
EL=SEE PLAN

6

6

T.O.
INTERSTITIAL
FLOOR
EL=SEE PLAN

7

57

T.O. BEAM
EL=SEE PLAN

19

32

5

1

3/16 2@12

13

4

21

1

13

26

2

2

5

21

26

23

3

52

3/16 2@12

57 57

1
13

2

4
26

23

26

11
T.O. PARAPET
EL=SEE ARCH

1/8
ANGLE TO
EACH STUD

24

T.O. BEAM
EL=SEE PLAN

3/16
PLATE TO

BEAM

34

32

31

3/16

22

4

24

1

T.O. BEAM
EL=SEE PLAN

3/16

PLATE TO
FLANGE
AND TO

WEB 1

28

30

1

1

1/4

1/4
PLATE TO
FLANGE

30

29

29 1/4

3/16

31

32

2

5

2

57

1
1

12

3/16 2@12

ANGLE TO
BEAM

T.O. DECK
EL=SEE PLAN

57

2

11

23

26

55 1

52

26

26

23

26

1/8 1@12

TRACK TO
BEAM

T.O. BEAM
EL=SEE PLAN

1/8 1@12

TRACK TO
BENT PLATE

2

11

26
26

55
1

23

1/8 1@12

TRACK TO
BEAM

26

1/4
PLATE TO
BEAM

52

17

T.O. BEAM
EL=SEE PLAN

23

2

11

23
26

55 1

52

11
23

1

2

T.O. BEAM
EL=SEE PLAN

55

1/8 1@12

TRACK TO
BEAM

T.O. BEAM
EL=SEE PLAN

26

3/16 1@12

BENT
PLATE TO

BEAM

12

2

1

6

6

1/4 2@12 1/4 2@12

20

1

2 2

6

6

23

26

26

3/16 2@12
12

T.O. BEAM
EL=SEE PLAN

2ND FLOOR
EL=SEE PLAN

16

53

141 6 6

6

10 54

2

1/4
PLATE TO
BEAM

3/16 2@12

5 11

23

26
26

1

2

2

5 1

17

2 2

3/16

58

Date

Project Number

Drawing Number

Dwg.

Building Number

Project TitleDrawing Title

OfArchitect Engineer

on
e-

ei
gh

th
 in

ch
 =

 o
ne

 fo
ot

0
4

8
16

on
e-

qu
ar

te
r i

nc
h 

= 
on

e 
fo

ot
0

4
8

th
re

e -
ei

gh
th

s  
in

ch
 =

 o
ne

 fo
ot

on
e-

ha
lf 

in
ch

 =
 o

ne
 fo

ot
th

re
e -

qu
ar

te
r  i

nc
h 

= 
o n

e 
fo

ot
on

e 
in

ch
 =

 o
n e

 fo
ot

on
e 

an
d 

on
e -

ha
lf 

in
ch

es
 =

 o
ne

 fo
ot

th
re

e  
in

ch
es

 =
 o

ne
 fo

ot
0

6
0

6
1

0
6

2
2

0
6

0
4

0
4

Office of
Construction
and Facilities
ManagementLocation

Checked Drawn

Approved: Project Director

ARCHITECT/ENGINEERSCONSULTANTS:

COMPLETION ITEM NO. _____
FULLY SPRINKLERED

A

B

C

D

E

1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

E

December 14, 2010

501-320AMBULATORY SURGERY EXPANSION
FRAMING SECTIONS AND DETAILS

S301

SHEET KEYNOTES

18. L2x2x1/4, SEE PLAN
19. L5x5x1/4 CONT.
20. PRE-MANUFACTURED STAIR, SEE ARCH
21. HANGER, SEE B3/S301 TYP. TOP
22. STEEL COLUMN, SEE PLAN
23. STEEL STUDS, SEE PLAN
24. (2) 7/8" A325 BOLTS EACH SIDE WITH LONG SLOTTED HOLES

(PARALLEL TO WEB) IN SUPPORTING BEAM
25. L4x4x1/4 CONT. W/ 3/8" STIFFENER PLATE @ 2'-0" O.C. PROVIDE 1/2"�

SIMPSON TITEN HD @ 2'-0" O.C. EMBED 4" MIN. INTO EXISTING
CONCRETE WALL OR EQUAL @ 2'-0" O.C.

26. SHEATHING, SEE ARCHITECTURAL
27. 3/4" x 10" x 2'-0" W/(6) 3/4" DIA A36 THREADED RODS EMBEDDED 6" INTO

EXISTING CONCRETE WALL & EPOXY W/ EPCON A7 ADHESIVE OR
EQUAL. CUT THREADED RODS FLUSH W/FACE OF PLATE AS REQUIRED
AND WELD ROD TO PLATE

28. 1/2" STIFFENER PLATE
29. (2)L31/2"x31/2"x5/16" KICK BRACE MEMBERS
30. 1/2" PLATE W/(2)3/4"DIA. A325 BOLTS
31. 5/8" DIA. HANGER ROD W/DOUBLE NUTS
32. 3/8"x3" BENT PLATE
33. 5/8" PLATE
34. 3/8"x4"x0'-8" LONG PLATE W/(1)3/4" DIA. BOLT IN SHORT SLOTTED HOLE
35. 14 GAGE CLOSURE STRIP
36. L3x3x1/4 (TYP. ALL FOUR SIDES OF OPENINGS)
37. EXISTING BEAM
38. GLAZING SEE ARCHITECTURAL
39. INFILL WINDOW OPENINGS AS SHOWN IN ARCHITECTURAL DRAWINGS.
40. 3/8" SHEAR PLATE W/(3) 3/4" DIA A325 BOLTS
41. MITER CUT ANGLES AND WELD TOGETHER W/ 3/16" FILLET WELD AT

CORNERS
42. 3/4" A307 BOLT IN LONG SLOTTED HOLES
43. 3/4" STIFFENER PLATE
44. 5/8" PLATE
45. 1" PLATE
46. 3/4"x10"x2'-1" PLATE W/(6) 3/4" DIA A36 THREADED RODS EMBEDDED 6"

INTO EXISTING CONCRETE WALL & EPOXY W/ EPCON A7 ADHESIVE OR
EQUAL. CUT THREADED RODS FLUSH W/FACE OF PLATE AS REQUIRED
AND WELD ROD TO PLATE

47. C12x30 x 1'-6" LONG
48. VERTICAL SLIDE CLIP @ EACH STUD
49. 3/4"x10"x3'-11" PLATE W/(10) 3/4" DIA A36 THREADED RODS EMBEDDED

6" INTO EXISTING CONCRETE WALL & EPOXY W/ EPCON A7 ADHESIVE
OR EQUAL. CUT THREADED RODS FLUSH W/FACE OF PLATE AS
REQUIRED AND WELD ROD TO PLATE

50. L5x5x1/4 CONTINUOUS WITH A36 THREADED RODS EMBEDDED 6"
MINIMUM INTO EPCON A7 ADHESIVE OR EQUAL @ 2'-0" O.C

51. 3/4"x1'-0"x1'-0" PLATE W/(6) 3/4" DIA A36 THREADED RODS EMBEDDED 6"
INTO EXISTING CONCRETE WALL & EPOXY W/ EPCON A7 ADHESIVE OR
EQUAL

52. 16GAGE VERTICAL DEFLECTION TRACK
53. COPE NEW BEAM TO FIT BELOW EXISTING OVER HANG FRAMING
54. NEW 3/8" x 5" WIDE x CONTINUOUS BOTTOM PLATE. WELD TO BOTTOM

FLANGE AS SHOWN TO PROVIDE ADDITIONAL REINFORCING. PLATE
CAN BE INSTALLED IN 6'-0" LENGTHS AND CAN STOP AT ELEMENTS
ATTACHED TO BOTTOM FLANGE

55. BENT PLATE 1/4" x4" x 9" LLH CONTINUOUS
56. STAIR TREAD, SEE ARCHITECTURAL FOR REQUIREMENTS
57. PROVIDE 2-HOUR FIRE PROTECTION, SEE ARCHITECTURAL
58. 3/8" x 6" x 1'-0" CAP W/(4)3/4" DIA. A325N BOLTS TO BEAM

1. METAL DECK WITH CONCRETE, SEE PLAN
2. STEEL BEAM, SEE PLAN
3. INTERSTITIAL FLOOR DECK, SEE PLAN
4. STEEL TRUSS, SEE PLAN
5. L4x4x1/4 CONTINUOUS
6. EXISTING STRUCTURE TO REMAIN
7. METAL DECK AND CONCRETE BETWEEN BEAMS, SEE PLAN
8. SEE B3/S301
9. L4x3x1/4 LLV BETWEEN BEAMS

10. 3/8" SHEAR PLATE W/(10) 1" DIA. A325N BOLTS IN 2 ROWS
11. NEW CONT. 16 GAGE TRACK
12. CONT. L4x4x1/4, NOTCH @HANGERS AS REQUIRED
13. CONT. BENT PLATE 1/4" x 4-1/2" x 4-1/2"
14. CONT. BENT PLATE 1/4" x 4" x 8" LLH
15. L3x3x1/4, SEE PLAN
16. PROVIDE POWDER ACTUATED FASTENERS @ 16" O.C.
17. 3/8" SHEAR PLATE WITH THE FOLLOWING REQUIREMENTS:

BEAM SIZE BOLT SIZE
NUMBER

REQUIRED
W10 1" DIA. A325N 2

W12,14 1" DIA. A325N 3
W16 1" DIA. A325N 4
W18 1" DIA. A325N 5
W21 1" DIA. A325N 6
W24 1" DIA. A325N 7
W27 1" DIA. A325N 8
W30 1" DIA. A325N 9

Scale: 3/4" = 1'-0"B2 SECTION

Scale: 3/4" = 1'-0"B3 SECTION
Scale: 3/4" = 1'-0"B4 SECTION

Scale: 3/4" = 1'-0"C1 SECTION
Scale: 3/4" = 1'-0"C2 SECTION Scale: 3/4" = 1'-0"C3 SECTION

Scale: 3/4" = 1'-0"C4 SECTION

Scale: 3/4" = 1'-0"C5 SECTION

Scale: 3/4" = 1'-0"E4 SECTION
Scale: 3/4" = 1'-0"E5 SECTION

Scale: 3/4" = 1'-0"B1 SECTION

Scale: 3/4" = 1'-0"A1 SECTION
Scale: 3/4" = 1'-0"A2 SECTION

Scale: 3/4" = 1'-0"A3 SECTION
Scale: 3/4" = 1'-0"A4 SECTION

Scale: 3/4" = 1'-0"A5 SECTION

B2A

Scale: 3/4" = 1'-0"B5 SECTION

C3A

Scale: 3/4" = 1'-0"A6 SECTION

# Revisions Date




